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drei Briiche, Reihenfolge der Operationen

Name:

42 +

N =

40+ 4+ =

N W

| —

7+

W1 N

N =

Nl —

WD W

(IS

W] =

X
| W

Datum: Ergebnis: __
1
N+-9— - =
3
44+4—l =
2
1 1 2
—X_+_:
6 5 5
1 2 1
—X_+_:
2 5 4
1 3 3
—_— — X = =
6 4 5
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drei Briiche, Reihenfolge der Operationen

404+

| —
AN —

33
=" =6
5 5
2 1
== ()
15l
—=_=10
5 5
1_4_ 1
3 3 3
303
5 10

Datum:
1 29 2
90+9- === =9
3 3 3
1 21 1
4+4—- —-=— =10=
2 2 2
1 1 2 13
— X =t - = —
6 5 5 30
1 2 1 9
— X =t - = —
2 5 4 20
1 3 3 17
—— =X -=("=)
6 4 5 60
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Ergebnis:
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